N RNA
PLAYGROUNDS

designed for sustainable and creative play

N903s2U

NS032

~N
® .
SMART
ROBINIA
PRE-DRILLED
SYSTEM
J

02-11-2023 / Rev.: B



N903s2U

NS032

| 6073 4701

Max kg / cm
S 1l |
o o
N — N e _ 2 o |5 | S | S
N o Lr) 5 ¥
o I@p@p | 2 g ML I
) jany ([ SN L I !
s |
=N
' #19
o
o
(o]
9073
—
o
N~
N~
~
1T N7
o Lh A
1 i =
2 50,5 m? 91x7,7x2,2m ~408 kg ~0,9m? ©10/12 x 300 cm 26 kg
NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3106U

N903s2U

NS032

S4218

N3240U

Parts List

\

N3222U

)

N3105U

m N3222U /

PART NO

DESCRIP.

N3222U

N3106U

N3104U

N3105U

S4218 3600x3600x3600mm

N[N Tg

N3240U

LD
]i |

N3240U



N903s2U

NS032 @

Max kg / cm —_

| L‘ [ H i
| ‘ — I ||i I

2200

800 510

oy © 0
(923 0 N
© o N~
~ N ™

5780

by
2151
O

VL

1030 %Q ©
980 ol

O
190
O
514
|
‘ v
B

S
Q O

300

980
1139

2151




L1014
DI N

N3222U

N3240U

N3222U

N3105U

2
o
<
AN
™
zZ

LE15910

Parts List

o IS
r S
S
? 2
o S
EISIEIT|S 8
o+~ ¢
SIE|ICIQ o X
olSIcl®|e 3
N3 x| XL E S
JI X W ol%| ®© ©
O|o|Q|IF|®|Z2 ™
2
— S22 (22|0|2
AREEE R
AR P R P A - B B B A RN R
a| 2222 |L|u|n|olaolo|g
dd|d|a|a|a|Z2|Z22Z2|2Z2|Z2|0V
VI
m333621111221




N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3240U

N3240

~N
® .
SMART
ROBINIA
PRE-DRILLED
SYSTEM
J

30-10-2023 / Rev.: D



N3240U

N3240

llolv

~2118 MAX kg/cm ~430

Max 450

600 - 800

‘\\\¥—#19

5118

3430
2
o)
S
>
N
54
O
O

2h 14,8 m? 51x3,3x0,45m ~56 kg ~0,23m’

P11 x 105 cm

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

9,3 kg

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



RS10038 ————

N3240U

N3240

Parts List

QTY

PART NO

DESCRIP.

RS10038

100-120-1050mm

)




N3240U

N3240

320

1555

2118 430
o
3
>< n 0 " N
© -
=
2
0
"0
N~ -— [32]
I 9 N < 8 Q
Yo} (o] N~ ~ ~ ~ (40]
Yo}
©
1875




N3240U
N3240

—
-
RS10038
LE15910
LE15901
Parts List
QTY PART NO DESCRIP.

2 LE15901 3x16, PH

LE15910 Name tag

6 RS10038 @100-120-1050mm




N3222U

N3222

IA
2]
o
o

EN 1176}

u

=l

\__3-14 J

N\
100

19
87

N RNA
PLAYGROUNDS

designed for sustainable and creative play

01-06-2023 / Rev.: C



N3222U

N3222

MAX kg/cm

2100 240

Iloll

450

600

—‘\\\~mg -

1960

5100

o

<

N

m i j

~
1 W
=
14,5 nt 51x3,2x0,5m ~38 kg 0,076 m* @11 x210 cm 18,6 kg
NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3222U

N3222

RS10034

~——— RS10035

Parts List
QTY PART NO DESCRIP.
1 RS10034 2100-120-2100mm
2 RS10035 3100-120-1050mm

~—————— RS10035




450 |

2100

N3222U

N3222

240

1685

1555

600

1570

1960

\\\\\~mg

1960

3530




#87

174

L1101 A

N3222U

N3222

RS10034

. ‘/ RS100356 —— =

LE16599

L1103
Parts List
QTY PART NO DESCRIP.
L1101 M16 sleeve nut
L1102 M16 Threaded rod
L1103 @37mm

LE15901 3x16, PH

LE15910 Name tag

LE16320 6x50 Dh

LE16599 Sealtite 970 1,5ml

RS10034 @100-120-2100mm

N2 alalaNININ|D™

RS10035 @100-120-1050mm

RS10035

LE15910

LE15901



N3106U
N3106

N RNA
PLAYGROUNDS

designed for sustainable and creative play e
31-10-2023 / Rev.: A




2888

N3106U

N3106

) Max kg / cm
/

1510

o
o
N
N
o
S "
™
~ n "
o 0
—
Yo
o
o
® ™~
I Il #19
5852
o
N~
<
<
>
2 2h 19 m? 59x45x22m ~70 kg ~0,1m? ©10/12 x 300 cm 26 kg
NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



D12155

522534

Parts List
QTY PART NO DESCRIP.
2 D12155 @10/12, Assembled
1 D12294 @8/12, Assembled
2 S22534 Taifun

N3106U

N3106

D12294

l

522534

D12155




N3106U

N3106

2915

AN
o
o
AN
(qV]
o
o
3
o n O "
o
o
S
™ #19
5 2 © >
& & & R
(e]
1555
0
‘bq’ 7
N ‘96;>
76 2774




D12155

522534

LE13100
LE16502
Parts List
QTY PART NO DESCRIP.
2 D12155 310/12, Assembled
1 D12294 @8/12, Assembled
12 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
12 LE16502 Spacer 6mm
2 LE16599 Sealtite 970 1,5ml
2 S22534 Taifun

N3106U

N3106

D12294

.

LE16599

522534

D12155

15910




N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3105U

N3105

~N
® .
SMART
ROBINIA
PRE-DRILLED
SYSTEM
J

11-09-2023 / Rev.: A



N3105U

N3105

2100 255

Max kg / cm
N

2200

1300

900

llOll

255

800

#19

5100

3000

1
(1]

14,5 m? 51x3x2,2m ~65kg 0,076 m® ©10/12 x 300 cm 26 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



D20052 ————»

Parts List
QTY PART NO DESCRIP.
1 D12293 @10/12, Assembled
1 D20052 @100-120-2100mm
1 RS10034 @100-120-2100mm
1

TV00015

Taifun

N3105U

TV00015

A\%

RS10034

D12293

e




N3105U

N3105

] o
o
N
N
o
o
(sp]
- | O
8 "0"
s 4 / Gy
N .,
3
[ce]
\\¥*#19
3
o
5 _ 5
5 ©
(o))
o -~
1685
0 N

1555




N3105U

N3105

LE16502 LE15910
r
LE15901
LE16599 A
A
TV00015
% RS10034
#87 -
| L1102
D20052 —
- LE16599
3
% L1101
Parts List

QTY PART NO DESCRIP.

D12293 @10/12, Assembled

D20052 @100-120-2100mm

L1101 M16 sleeve nut

L1102 M16 Threaded rod

L1103 @37mm

LE13100 Shackle

LE15901 3x16, PH

LE15910 Name tag

LE16502 Spacer 6mm

LE16599 Sealtite 970 1,5ml

RS10034 @100-120-2100mm

222N =2INDNININ A=~

TV00015 Taifun




N RNA
PLAYGROUNDS

designed for sustainable and creative play

N3104U

N3104

B

® .
SMART
YSTEM

ROBINIA
PRE-DRILLED

01-11-2023 / Rev.: A



N3104U

N3104

2100 245
MAX kg/cm
- _
o
Q
0O Q Q
0
g § ||0l|
o
2
T #19
5100
A,
S
2
o
o
3 :
O ()
Q
&
Q..

Ole

14,6 m? 51x3x22m ~B5 kg 0,076 m? ?11x 300 cm 26 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



D12292 L
Parts List
QTY PART NO DESCRIP.
1 D12292 @10/12, Assembled
1 D20050 @100-120-2100mm
1 RS10034 2100-120-2100mm
1

TV00015

Taifun

N3104U

N3104

RS10034

TV00015

~—— D20050




N3104U

N3104

o
o
(qV]
(9]
0
8 § "O“
o
S
ST #19
2 o %
1 Q 3
1690
0 /

1555




N3104U

N3104
LE15910
LE15901
D12292
\(_\ RS10034 fr A
A
LE16502
LE13100
#87
LE16599
L1101
LE16599
TV00015 D20050
L1103
Parts List
QTY PART NO DESCRIP.
D12292 @10/12, Assembled
D20050 @100-120-2100mm
L1101 M16 sleeve nut
L1102 M16 Threaded rod
L1103 @37mm

LE13100 Shackle

LE15901 3x16, PH

LE15910 Name tag

LE16502 Spacer 6mm

LE16599 Sealtite 970 1,5ml

RS10034 @100-120-2100mm

N N N CN S I R R L R NG RN N

TV00015 Taifun




